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. Up | ¢ o Uy | Up | Ug I, lg ley | Ugia | Par | Raja| Po Peo P,

V| A v v v mA mA mAl V |W | ke| W[ W w
400 | 250 | — 45 100 8 4 65 | 03 25 2 15 | CCS
500 | 250 | — 45 100 8 4 65103 32 2 18 | CCS
C-Tgr 600 | 250 | — 45 100 8 4 65103 40 2 20 | CCS
f<60MHz | 1750 | 250 | — 45 100 8 4 65|03 54 2 21 | ICAS
600 300 | —200 100 5 maximum 3,5 25 CCS
750 | 300 | —200 100 5 maximum 3,5 30 |ICAS
325 | 250 |— 75 80 6 35| 95103 17 1,5 9 |ccs
400 | 250 | — 75 80 6 35| 95|03 22 1,5 10 |cCcs
C-Tif 475 | 250 | — 85 83 8 4 | 108 | 04 28 | 2 11,5 | CCs
A'<MZS-M 9y 600 | 300 | — 85 100 8 4 | 107 | 04 44 | 24 | 16 |ICAS
f< z 475 300 | —200 83 5 maximum 2,5 16,5 | CCS
600 | 300 | —200 100 5 maximum 2,5 25 | ICAS
400 | 300 | — 40 75 5 40 | 0,4 9 1,5 21 | CCS
P17 X | SFR 6 | 4 |14 500 | 300 | — 40 70 4 38 10,3 1 1,2 24 | CCS
5B/251 M| STCE | 1 | 63|09 | [B-TIf 600 | 300 | — 40 62,5 4 36 | 0,2 12,5 12 25 | CCS
5B[252 M| STCE | 2 | 63|09 | [f<60MHz | 1750 | 300 | — 40 60 3 35 |02 15 0,9 30 | ICAS
5B/254 G| STCE | 3 | 63[09 600 | 300 80 maximum 2,5 25 | CCs
5B/254 M| STCE | 4 | 63]09 750 | 300 90 maximum 2,5 30 | ICAS
5B/255 M | STCE | 5 | 63 0,9 400 | 300 | — 30 | (28+71,5)x2/ (1 +8) x2 |0 600 | 68|36 |24 x2 10,6x2 CCS
5B/256 M| STCE | 6 |19 |03 500 | 300 | — 32 | (22+70,5)x2(0,5+ 7,5)x2 0 640 | 82146 |2,25x2 |12,3x2|CCS
5Bj257 M| STCE | 5 |12 | 0,47 [AB 1 600 | 300 | — 34 | (18+69,5)x2/(0,3 +7,5)x2 0 68 |0 (10 |56 |225x2 |13,7x2|CCS
5518 STCS | 6 |12,6]/045 [Modul. 750 | 300 | — 35 | (15+69,5)x2((0,25+-8)x2 | O 70 [0 [12 172 |24 x2 |16 x2/ICAS
807 int 6 | 6309 600 | 300 120 maximum 3,5 25 | CCS
1625 int 7 |12,6]045 750 | 300 120 maximum 3,5 30 | ICAS
400 | 300 | — 28 | (36+120)x2| (1 =10)x2 80|02 37|55 |3 x2/205x2[CCS
500 | 300 | — 30 | (30--120)x 2| (0,45+10)x2 86 :02| 4675 |3 x2[225x2 CCS
AB 2 600 | 300 | — 32 | (24+100)x2| (0,35 9)x2 90 | 01| 6,9/80 |27 x2 |20 x2 CCS
Modul. 750 | 300 | — 35 | (15+120)x2| (0,25+10)x Z 9602 73{120 |3 x2 |30 x2 ICAS
600 300 120 maximum 3,5 25 CCS
750 300 120 maximum 3,5 30 ICAS
AR) {300 250 | — 12,5 83 8 3 | 64| S=6,5mAJV;R;=24kQ
500 | 200 | — 14,5 50 1,6 6 |11,5| S=57 mAJV;R;=39kQ
A-Fig. 1 250 | — |— 10 120 — 7 | S=10mAJV;R;=1,1kQ
AB 1-Fig. 1 400 | — | — 45 | (32+70)x2 — 0 9|0 | 3 |15 20,5 x 2| CCS
Modul. {400 — 125 maximum 25 CCS

stat. 600 300 | —200 maximum 3,5 \ 25
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5 B/251 M 13 7 0,1 GL-807 GE = 807 RK 39 Ray = 807
ry-2 CCCP = 807 RK 807 Ray = 807
,5 | 0,13
5 B/252 M 128 ry-3 CCCP = 1625 RK 1625 Ray = 1625 807
5 B[254 G 10 18 012 rvK-2 CCCP = 807 WL-807 WE = 807 1625
5 BJ254 M 1317 |01 rvK-3 CCCP = 1625 4Y 25 Maz = 807 S
5 BJ255 M 12 | 85 | 013 r-807 CCCP = 807 4Y 25N SIFE = 807
5 Bj256 M 12 | 85 | 0,13 r-1625 CCCP = 1625 5 BJ250 A STCE = 807
HY 61 Hyt = 807 5 BJ253 M STCE = 5 Bj252 M
> BJ257 M 12185 1013 Kox-2 CCCP = 807 5 B/258 M STCE = 5 BJ256 M
5 BJ258 M 137 101 KIK-3 CCCP = 1625 551 STCS — 807
5S1-B 1" |7 0,2 P17 A SFR = 807 807-W1) amer = 807
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